

NAME: AMADI SARIMA MILDRED

DEPARTMENT: MEDICINE AND SURGERY

MATRICULATION NUMBER: 19/MH801/089

MAT 104 Assignment

1. $y = 2x^2$ at the point $(1, 2)$

a. for equation at tangent

$$\frac{dy}{dx} = 4x$$

$$m_1 = \frac{dy}{dx} \bigg|_{x=x_1}$$

$$m_1 = 4(1) = 4$$

$$y - y_1 = m(x - x_1)$$

$$y - 2 = 4(x - 1)$$

$$y - 2 = 4x - 4$$

$\therefore y - 4x + 2 = 0$ is the equation at tangent

b. for equation at normal

$$m_2 = \frac{-1}{m_1} = \frac{-1}{4}$$

$$y - y_1 = \frac{-1}{m_1} (x - x_1)$$

$$y - 2 = \frac{-1}{4} (x - 1)$$

$$4(y - 2) = -1(x - 1)$$

$$4y - 8 = -x + 1$$

$\therefore 4y + x - 9 = 0$ is the equation at normal

2. $y = 3x^2 - 2x$ at the Point $(2, 8)$

a. for the equation at tangent

$$\frac{dy}{dx} = 6x - 2$$

$$m_1 = \frac{dy}{dx} \bigg|_{x=x_1}$$

$$m_1 = 6(2) - 2$$

$$m_1 = 10$$

$$y - y_1 = m(x - x_1)$$

$$y - 8 = 10(x - 2)$$

$$y - 8 = 10x - 20$$

$\therefore y - 10x + 12 = 0$ is the equation at tangent

b. for the equation at normal

$$m_2 = \frac{-1}{m_1} = \frac{-1}{10}$$

$$y - y_1 = \frac{-1}{m_1} (x - x_1)$$

$$y - 8 = \frac{-1}{10} (x - 2)$$

$$10(y - 8) = -1(x - 2)$$

$$10y - 80 = -x + 2$$

$\therefore 10y + x - 82 = 0$ is the equation at normal

3. $y = x^3/2$ at Point $(-1, -1/2)$

a. for the equation at tangent

$$\frac{dy}{dx} = \frac{V \frac{du}{dx} - u \frac{dv}{dx}}{V^2}$$

$$\frac{dy}{dx} = \frac{2(3x^2) - x^3(0)}{2^2}$$

$$\frac{dy}{dx} = \frac{6x^2 - 0}{4}$$

$$m = 6/4 = 2/3$$

\therefore equation of the tangent is $2y - 3x = 0$

b.

for the equation at normal

$$y - y_1 = -1/m_1 (x - x_1)$$

$$y + 1/2 = -2/3(x + 1)$$

$$y + 1/2 = -2/3x - 2/3$$

$$y + 2/3x + 7/6 = 0$$

Dividing through by 6

$6y + 4x + 7 = 0$ is the equation of the normal

4. $y = 1 + x - x^2$ at the point $(-2, -5)$

a. for the equation at tangent

$$\frac{dy}{dx} = -2x + 1$$

$$m_1 = \frac{dy}{dx} \bigg|_{x=x_1}$$

$$m_1 = -2(-2) + 1 = 5$$

$$y - y_1 = m(x - x_1)$$

$$y + 5 = 5(x + 2)$$

$$y + 5 = 5x + 10$$

$y - 5x - 5 = 0$ is the equation at the tangent

b. for the equation at the normal

$$m_2 = -1/m_1 = -1/5$$

$$y - y_1 = m_2(x - x_1)$$

$$y + 5 = \frac{-1}{5}(x + 2)$$

$$5(y + 5) = -1(x + 2)$$

$$5y + 25 = -x - 2$$

$\therefore 5y + x + 27 = 0$ is the equation at normal

5. $y = 1/x$ at the Point $(3, 1/3)$

a. for the equation at tangent

$$\frac{dy}{dx} = -x^{-2}$$

$$m_1 = (-3)^{-2} = -1/9$$

$$\frac{dy}{dx} \bigg|_{x=3}$$

$$y - y_1 = m(x - x_1)$$

$$y - \frac{1}{3} = \frac{1}{9}(x - 3)$$

$$9y - 3 = -1(x - 3)$$

$9y + x - 6 = 0$ is the equation of the tangent

b. for the equation at normal

$$y - y_1 = m(x - x_1)$$

$$y - \frac{1}{3} = -(-9)(x - 3)$$

$$y - \frac{1}{3} = 9(x - 3)$$

$$3y - 1 = 27(x - 3)$$

$$3y - 1 = 27x - 81$$

$3y - 27x + 80 = 0$ is the equation of the normal